INSTALLATION MANUAL

METAL CBU
TYPES I, Il, 11, AND IV

1570 “F” SERIES

L.S.MAILSUPPLY

America's Mallbox Headgquarters -

TABLE OF CONTENTS

DESCRIPTION
CBU INFORMATION 2
SITE PREPARATION AND PEDESTAL INSTALLATION
SECURITY TOOL REQUIREMENTS

INSTALLATION OF AN ARROW LOCK

PARCEL ARROW LOCK INSTALLATION

PEDESTAL TO CBU INSTALLATION

(8 RN R N PNy BOF)

91194 F INSTALL 1



THIS PAGE INTENTIONALLY LEFT BLANK.

2 9194 F INSTALL



DO
|"I
"l‘

_//f}/f}’ﬂ

©
®

> >
]

TYPEI TYPENII TYPEII TYPEIV

INSTALLED HEIGHT 62” 62" 62" 62"
DEPTH 17-7/8" | 17-7/8" | 17-7/8” | 17-7/8”
WIDTH 30-1/2” | 30-1/2” | 30-1/2” | 30-1/2”
WEIGHT (WITHOUT PEDESTAL) 107 LBS | 111 LBS | 147 LBS | 137 LBS
WEIGHT (WITH PEDESTAL) 125 LBS | 129 LBS | 162 LBS | 152 LBS
QTY OF STANDARD COMPARTMENTS 8 12 16 13
QTY OF PARCEL COMPARTMENTS 2 1 2 1
PARCEL COMPARTMENT HEIGHT 10”,13"| 10" |10”,13"| 10"

91194 F INSTALL




4

SINGLE UNIT

10° TYP - —-
P
BCX QUTLINE TYP
' '
Qo -]
o o ] i
1
4
e - -— 5'TYP
TYP 2'Q
MIN, TYP
!

CHAMFER ALL EDGES IN
LANDSCAPE AREAS. TOOL FLUSH
WITH ADJOINING SURFACES IN
PAVED AREAS

CBU PEDESTAL

[
4X 450 \IN

!

BROOM FINISH

994 F INSTALL

MULTI-UNITS

{4) 1/2-13 ANCHOR
BOLTS; USE TEMPLATE
10 ALIGN PROPERLY

BOX OUTLINE IYFICAL)  BOXQUTLINE
[ 4 A
-] o o 9
-] o - -]
-0 - 7-10" TYP -
MIN, TYP 4

SLOPE SURFACE
ON ALL 5IDES FOR DRAINAGE

ARRANGE MULTIPLE ANCHOR BOLT SETS AS
REQUIRED:; BASE NOT TO EXCEED 16'0"

MATCH EXISTING GRADE IN PAVED ARZAS

B.00 MIN

OPTMONAL COMPALT GRAVEL OR
CRUSHED STONE (OMIT WHERE
SOLID ROCK OCCURS)

FIRM UNDISTURSED 500, OR

WELL-COMPACTED FILI
NCH PER FOOT

BUTYL RUBSER PAD

4X 50 DIA ANCHOR BOLTS

SITE PREPARATION
AND PEDESTAL INSTALLATION
METAL CBU TYPES |, II, 1ll, AND IV

1570 “F” SERIES



IMPORTANT NOTICE FOR USPS INSTALLERS

METAL CBUTYPES L 11, lll, AND IV
1570 “F” SERIES

IMETALLER MUST QRDER hdeGARD STREW DRIVER
{IISPS - MAN. EQUIPMENT SHOP PART NUTMBER 110050)
IT INSTALL ANDSERVICE THE FARUEL A RROW LOCE COVER
O THE WEW AUTH-EL OREMNCE CBLUL

IR THE
McGARD SCREW DRIVER MES NO. 110050

HEEDS T BE ORDERED
IT MAY BE OQRDERED BY RAXIMNG AN "OFF CATALOG" eBUY REQUEST TO:

UsSPS MAIL EQUIPMENT SHOP
FAX NO. [202) 281-2643

QUIESTIONS # CALL THE USFY MATL EQUIPMENT SHOP AT (202) 281 - 320

IO _F THSTALL L



INSTALLATION OF AN ARROW LOCK

METAL CBU TYPES |, 11, 111, AND IV
1570 “F” SERIES

1 OPEN ARROW LOCK DOOR.
|

2 REMOVE FIVE (5) 86091 10-32 LOCK

m NUTS, AS WELL AS 92303 LOCK SUPPORT
PLATE (DISPOSE OF PLASTIC
SHIPPING SPACER).

PLACE ARROW LOCK IN TO ARROW
m LOCK SECURITY BRACKET AND
POSITION ON DOOR.

REPLACE ONE (1) 86091 10-32 LOCK NUT
m [N THE REAR POSITION TO SECURE
ARROW LOCK SECURITY BRACKET.

INSTALL 92303 LOCK SUPPORT PLATE AS
m SHOWN.

REPLACE FOUR (4) 86091 10-32 LOCK
m NUTS. TORQUE 250 TO 30
INCH-POUNDS.

DESCRIPTION

REQUIRED TOOLS 86091 |10-32 LOCK NUT
3/8” SOCKET WRENCH 92300 | ARROW LOCK SECURITY BRACKET
92303 |LOCK SUPPORT PLATE
ARROW LOCK

6 9194 F INSTALL



INSTALLATION OF AN ARROW LOCK

]

ﬂ%ﬁ ‘el T
R
N @

91194 F INSTALL



PARCEL ARROW LOCK INSTALLATION

METAL CBU TYPES |, 11, 1l1 AND 1V
1570 “F” SERIES

OPEN PARCEL DOOR, REMOVE AND

m DISCARD FOUR (4) PLASTIC SHIPPING
RETAINERS (TWO ON LATCHING
ASSEMBLY COVER AND TWO ON ARROW
LOCK COVER).

REMOVE PLASTIC BAG OF FASTENERS (IT

2 CONTAINS ALL FASTENERS NECESSARY
TO INSTALL POSTAL LOCK IN ONE
PARCEL DOOR).

INSTALL ARROW LOCK AS SHOWN AND

3 SECURE WITH FOUR (4) 86091 10-32
LOCK NUTS. TORQUE 25 to 30 INCH-
POUNDS.

91255 USING TWO (3) 84994 10-32 X .375
UNE-2A 18-8 SS PASSIVATED 1-WAY
TAMPER PROOF FASTENERS.

4 INSTALL LATCHING ASSEMBLY COVER

INSTALL ARROW LOCK COVER 91259
m USING TWO (2) 84993 10-32 X .312
UNE-2A 18-8 SS PASSIVATED MCGARD

FASTENERS.
6 REMOVE LABEL FROM COVER. PART # DESCRIPTION
u 84993 |10-32 x 312 UNF-2A 18-8 §S
PASSIVATED MCGARD
84994 | 10-32 X .375 UNF-2A 18-8 SS
REQUIRED TOOLS PASSIVATED 1-WAY TAMPER PROOF
FLAT SCREWDRIVER 86091 |10-32 LOCK NUT
USPS PROPRIETARY MCGARD TOOL. 91255 |LATCHING ASSEMBLY COVER
3/8” SOCKET WRENCH 91259 | ARROW LOCK COVER
PLIERS ARROW LOCK

8 9194 F INSTALL



PARCEL ARROW LOCK INSTALLATION

PLASTIC
SHIPPING
RETAINERS

91259

4 F INSTALL



PEDESTAL TO CBU INSTALLATION
METAL CBU TYPES I, II, Il AND IV

1570 “F” SERIES

1 OPEN MASTER LOADING DOORS.
|

2.

REMOVE LEFT AND RIGHT SIDE 91079
FLOATING SHELVES, EXPOSING
MOUNTING HOLES.

3 PLACE UNIT ON PEDESTAL.
|

FROM UNDERNEATH UNIT, INSERT FOUR
(4) 86101 3/8-16 X 1.25 CARRIAGE BOLTS
UPWARD.

4.

FROM INSIDE PARCEL COMPARTMENTS,
ADD FOUR (4) 86097 3/8” X .688 OD
LOCK WASHER AND TIGHTEN FOUR (4)
86089B 3/8-16 HEX NUTS. TORQUE TO 22
FOOT-POUNDS.

S.

REPLACE LEFT AND RIGHT SIDE 91079
m FLOATING SHELVES.

6

DESCRIPTION

86089B [3/8-16 HEX NUT
REQUIRED TOOLS 86101 |3/8-16 X 1.25 CARRIAGE BOLT
9/16” SOCKET WRENCH 91079 |FLOATING SHELF
91129 |PEDESTALFOR TYPE L II
91121 PEDESTAL FOR TYPE IIL IV
86097 |3/87 X .688 OD LOCK WASHER

10 9194 F INSTALL



PEDESTAL TO CBU INSTALLATION

i — 860898

91194 F INSTALL



	F Series CBU Installation Instructions_Page_01
	F Series CBU Installation Instructions_Page_02
	F Series CBU Installation Instructions_Page_03
	F Series CBU Installation Instructions_Page_04
	F Series CBU Installation Instructions_Page_05
	F Series CBU Installation Instructions_Page_06
	F Series CBU Installation Instructions_Page_07
	F Series CBU Installation Instructions_Page_08
	F Series CBU Installation Instructions_Page_09
	F Series CBU Installation Instructions_Page_10
	F Series CBU Installation Instructions_Page_11

